# Proof Without Words: Sum of the Squares of the First $n$ Integers 

Greg Orosi, American University of Sharjah

| $1+2+\ldots+n-1=\frac{(n-1)(\mathrm{n})}{2}$ |  |  |  | $\mathrm{n}^{2}$ |  |
| :---: | :---: | :---: | :---: | :---: | :---: |
| . . . |  |  | . . |  |  |
| $1+2$ |  | $3^{2}$ |  |  |  |
| 1 | $2^{2}$ |  |  |  |  |
| $1^{2}$ |  |  |  |  |  |

$$
\begin{align*}
& A R E A=n \cdot\left(\frac{n(n+1)}{2}\right)=\frac{n^{3}+n^{2}}{2}  \tag{1}\\
& \begin{aligned}
A R E A & =\sum_{i=1}^{n} i^{2}+\sum_{i=1}^{n-1} \frac{i(i+1)}{2}=\sum_{i=1}^{n} i^{2}+\frac{1}{2} \sum_{i}^{n-1} i^{2}+\frac{(n-1) n}{4}=\frac{3}{2} \sum_{i}^{n} i^{2}-\frac{n^{2}}{2}+\frac{(n-1) n}{4} \\
& =\frac{3}{2} \sum_{i}^{n} i^{2}-\frac{n^{2}}{4}-\frac{n}{4} \\
(1)=(2) & \Longrightarrow \frac{n^{3}+n^{2}}{2}=\frac{3}{2} \sum_{i=1}^{n} i^{2}-\frac{n^{2}}{4}-\frac{n}{4} \\
\sum_{i=1}^{n} i^{2} & =\frac{2}{3}\left(\frac{n^{3}+n^{2}}{2}+\frac{n^{2}}{4}+\frac{n}{4}\right)=\frac{2}{3}\left(\frac{2 n^{3}+3 n^{2}+n}{4}\right)=\frac{n(n+1)(2 n+1)}{6}
\end{aligned}
\end{align*}
$$

Greg Orosi, gorosi@ucalgary.ca, is currently an Associate Professor in the Department of Mathematics and Statistics at the American University of Sharjah. His research areas include computational finance and applications, numerical methods applied to derivative pricing, empirical performance of option pricing models, and mathematics education.

